To what extent does social class exist in the UK today?
There is a dispute over the extent to which class inequalities still exist in the UK today.  While higher classes are more likely to go to university and lower classes are thought to have poorer health, unemployment rates among the middle class are high and smoking affects everyone regardless of class

Class inequalities still exist in the UK.  Those from higher classes are more likely to go to university.  For example, 5.1% of students from Govan Hill went onto further education compared to 82.4% from Jordan Hill, a middle class area.

However, having a university degree does not guarantee a better pay and therefore a higher social class.  For example, one fifth of university graduates have poorer pay than those only educated to A level standard.  In conclusion, class inequalities still exist to some extent but coming from a higher social class does not ensure better pay.

Class inequalities are thought to still exist in the UK today.  Those from lower social classes eat less healthy than those from higher social classes therefore there is inequality in health, controlled by class.  For example 35% of women from middle class backgrounds ate over 5 portions of fruit and vegetables per day compared to 18% from lower social classes.

However, the middle classes eat foods which have hidden salt in them negatively affecting their health.  For example, the middle classes eat foods which can be high in salt which can lead to high blood pressure and heart problems.  This shows that there are class inequalities to a limited extend as all classes are affected by a poor diet.
There are no class inequalities in the UK.  The middle classes are hit by unemployment just as much as the working classes.  For example, unemployment among solicitors has risen by 401%.  However, middle classes are more likely to get better paid jobs therefore they have an advantage over the working classes.  For example, medical practitioners are paid £80,266 compared to sales assistants who are paid £12,500.  This shows that while middles classes are hit by unemployment, inequality still exists as they are more likely to have higher paying jobs.

There are no class inequalities in the UK.  Everyone who smokes is equally affected, regardless of class.  For example, a recent study has shown that 41% of female smokers in the top social class where alive after 28 years compared to 56% of non-smokers in the bottom social class.  However, lower social classes are more likely to smoke.  For example, 15% of adults in managerial and professional households’ smoke compared to 29% in routine households.  This shows there is inequality as lower classes are more likely to smoke so will have poorer health.

In conclusion, while higher classes are more likely to go to university and lower classes have poorer health, middle class unemployment rates are high and smoking affects everyone regardless of class.  Overall, class inequalities still exist to a large extent in the UK today.

